Write the following in product form and

write the terms in words.
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ANSWER:

(1) 10/

The product form of 107 = 10 multiplied 7
times=10x10x10x10x10x170x 10
Word form of 107 = 10 to the power 7.

(2) (-4)°

The product form of (—4)° =
multiplied 6 times = (-4) x (
4) x (-4) x (-4)

Word form of (-4)® = (-4) to the power 6.

(3) 9°

The product form of 93 = 9 multiplied 3
times=9x9x9

Word form of 93 = 9 to the power 3.

(4) m®

The product form of n® = m multiplied 8
times=mxmxmxmxmxmxmxm
Word form of m® = mto the power 8.

(5) (1.4)2
The product form of (1.4)2 = 1.4 multiplied
2times=1.4x1.4

Word form of (1.4)% = 1.4 to the power 2.



© (2)*

The product form of (%)4 = % multiplied

- — 2 2 2 2
4t|mes_5><5;<5><5
Word form of (%) = % to the power 4.
3\9
) (%)

5
The product form of (— %) = (— %)
multiplied 5 times

G RICHEICHEIC
x (-1)
Word form of (—%)5 = (—%) to the
power 9.

(8) (-1)°

The product form of (=1)3 =(-1)
multiplied 3 times = (-1) x (=1) x (-1)
Word form of (-1)3 = (-1) to the power 3.

©) (23)°
The product form of (2%) :

multiplied 2 times = 2%) (2%)
Word form of (2%)2 = (2%) to the

power 2.



(10) &3

The product form of a3 = a multiplied 3
times=axaxa

Word form of a® = a to the power 3.



Write the following in index form:
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ANSWER:

Tl
7 9 X9 X7
Here 5 is multiplied 5 times.

Indexformof— X L x L% —g— ><—79-is

(1) L

(2) 8x8x8
Here 8 is multiplied 3 times.
*. Index form of 8 x 8 x 8 is (8)3

(1)—><—><

By mxmxmxm
Here mis multiplied 4 times.
*. Index form of mx mx mx mis (m)*



(—2) x (=2) x ........ 6 times
= (=3) x (=3) x (=7) x (=3)
x (=7) x (=3)

Here (—%) is multiplied 6 times.

~. Index form of
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(7) bxbx..10times=bx bx bx bx bx
bxbxbxbxb

Here bis multiplied 10 times.

S Index formof bx bx bx bxbx bx bx b
x bx bis (b)1°



Question 3:

Write the base and index of the following

numbers:
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(1) (=1)2° =(=1) x (=1) x (=1) x ... 20
times
Here (-1) is the base and 20 is the index.

(2) 7°=7x7 x7 x7 x7
Here 7 is the base and 5 is the index.

(3)a>=axaxaxaxa
Here ais the base and 5 is the index.

(4) (-2)* = (-2) x (=2) x(-2) x(-2)
Here (—2) is the base and 4 is the index.

(5) 10790 =10 x 10 x10 x ... 100 times
Here 10 is the base and 100 is the index.

3\9_3 3 .3 .33

©) (37) =37 X 37 X i1 X 11 X 11
3.3 .3 .3
><11><11><11)<11

Here 1—31 is the base and 9 is the index.

7 (—%5)" = (~35) x (~15)
x (—33) * (—13) * (=15)
x (—35) x (—13) * (=15)
x (=15) x (=15)

Here (— l) is the base and 10 is the



(8) ad®=axaxaxaxaxa
Here ais the base and 6 is the index.

(9) (x)° = (xy) x (xy) x(xy)
Here (xy) is the base and 3 is the index.

(10) (§)" = § x 3

Here % is the base and 2 is the index.



